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ST. PBN PUBLIC SCHOOL, GURUGRAM 

UNIT TEST - I 

CLASS-IV 

SUBJECT-ENGLISH 

SAMPLE PAPER 
TIME: 2 Hours                                                                     MM: 40 

NAME: ____________________     ROLL NO:___________________ 

GENERAL INSTRUCTIONS:  

1. All questions are compulsory. 

2.  Read each question carefully. 

Section (A) [Comprehension] 

Q1 Read the unseen passage and answer the questions given below.             (5) 

Bears are found in Europe, Asia, Africa and America. They are massively built, with 

short tails and thick legs. Bears are not really carnivores. They eat almost anything, the 

chief exception in the polar bear, which in its natural state lives on fish and seals. 

However, in captivity, they seem to enjoy meat, vegetables, fruits, milk, rice and 

porridge. Bears are not quite as dangerous as people imagine them it be like most 

animals; they will do their best to avoid human beings. They have a special sense that 

is eyesight to see things. 

a) Where are bears found? 

b) What does a bear eat in captivity? 

c) What does a bear avoid like most animals? 

d) What kind of body does the bear have? 

e) Write the opposites of the following from the paragraph: 

Safe                            Small 

Section –B(Reader) 

Q2). Answer the following long questions.                                    (2x2=4) 

a) Why do you think Ammu’s house had electricity but Unni’s did not? 

b) Why did the caliph merely warned the accused sternly?  

Q3.) Fill in the blanks.                                                             (0.5x4=2) 

a) Our house finally has ________. 

b) The _______ was covered with olives. 

c) The olives cannot stay fresh for _________ years. 
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d) Unni imagines sleeping under a _________ at home. 

Q4) Write the meaning of the following words.                       (1x3=3)                                                                                       

a) Mumble   

b) Convict   

c) Motionless    

Q5) Case Based Question                                                                               (2x2=4) 

The caliph knew what he was going to do. The real accused saw plainly that the 
opinions of the olive merchants would convict him.  

Q1) What are the qualities of a judge? 

Q2) If you become a judge for the same situation as caliph, what would you do for the 
justice?    

 

Section – C (Grammar) 

Q6) Arrange these words in the alphabetical order.                        (1x4=4) 

a) Round,   same,    class,   read 

b) Harm,    card,      smell,     thank 

c) Cattle,    candy,     cow,       coal 

d) Axe,      armrest,     arrow,    arc 

Q7)  Add few words of your own to turn these sentence fragments into complete 

sentences.                                                                                         (1x4=4) 

a) leaves the house and goes to work.  

b) cried when he fell and scrapped his knee. 

c) a big yellow door. 

d) in front of the house 

Q8) Complete the sentences using ‘s or ‘.                                             (1x4=4)       

a) Is that my __________ book? (son) 
b) My _________ bag got lost yesterday. (uncle) 
c) Those __________ zips are broken. (bags) 
d) __________ clothes are with me. (Faizan and Ravi) 

Q9) What kind of sentences are these?                                                      (1x4=4) 

a) I am nine years old.  

b) Where do you stay? 
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c) Please stop here. 

d) The sky is blue.  

Q10) Rewrite the following as negative sentences.                          (0.5x4=2) 

a) I am eating hot food.  

b) It was raining yesterday. 

c) They have clothes to wear. 

d) I had interest in your business. 

    

Section -  D(Writing Skill) 

Q11)  Write ten lines on My Favourite Player.                       (4) 
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सेंट पी बी एन पब्लिक सू्कल , गुरुग्राम 

SAMPLE PAPER UT-I  

कक्षा :  चौथी  

विषय : व िंदी 

(2024-25) 

समय : 2 घिंटे                                                                                      अिंक : 40                                                             

सामान्य निरे्दश : 

1 सभी प्रश्नों के उत्तर रे्दिा अनिवार्य है। 

2 लेख और वर्यिी का ध्याि रखें।  

3 प्रश्नों कन ध्याि से पढ़कर उत्तर र्दीनिए। 

भाग - क 

साव त्य  

प्रश्न 1. वनम्नवलब्लित गद्ािंश को पढ़कर प्रश्नो िं के उत्तर दीविए ।                  (1 x 5 = 5) 

सभी बचे्च मेले में खखलौिे ले रहे थे। महमूर्द िे नसपाही नलर्ा, मनहनसि कन नभश्ती पसोंर्द आर्ा। 

िूरे कन वकील से पे्रम है। रे् सब र्दन-र्दन पैसे के थे। हानमर्द के पास कुल र्ीि पैसे थे। वह नमटटी 

के कमिनर खखलौिनों कन पसोंर्द िही ों करर्ा क्नोंनक वे महोंगे थे, इसनलए वह लनहे की रु्दकाि पर 

गर्ा । वहाों उसे ख्याल आर्ा है, र्दार्दी के पास निमटा िही ों है। निमटे के नबिा रनटी सेंकरे् समर् 

उिका हाथ िलर्ा है। र्ह सनिकर उसिे र्ीि पैसे में एक निमटा खरीर्द नलर्ा। 

i) बचे्च ब्लिलौने क ााँ से ले र े थे? 

क) बाजार   ख) मॉल   ग) मेले  

ii) म मूद ने कौन सा ब्लिलौना िरीदा? 

क) नसपाही   ख) बोंर्दर   ग) डॉक्टर  

iii)  ावमद के पास वकतने पैसे थे? 

क) र्दन    ख) र्ीि   ग) िार  

iv) दादी के वलए उसने क्या िरीदा? 

क) र्वा   ख) िूऩिर्ााँ   ग) निमटा  

v) वचमटे को  ावमद ने वकतने पैसे में िरीदा? 

क) र्दन    ख) र्ीि   ग) िार  
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प्रश्न 2. स ी िाक्य पर स ी ( ) तथा गलत िाक्य पर गलत (X) का वनशान लगाइए।   

                       (0.5x4=2)  

(क) हमें ररश्वर् लेकर रू्दसरनों का काम करवा रे्दिा िानहए।                                  (    )  

(ख) नमलिुलकर रहिे से कनई भी हमारे रासे्त में बाधा उत्पि िही ों कर सकर्ा।     (    )          

(ग) िेहा कन गुलाब के साथ पनत्तर्ााँ अच्छी िही ों लगर्ी थी ।                                (    )    

(घ) त्यौहार का अथय हमारे नलए खुश हनिा है।                                                 (    ) 

प्रश्न 3) िाली स्थान भरें ।                                                                    (0.5x5=2.5) 

(क) ठों ड में धूप के खखलिे पर ______________ का त्यनहार हनर्ा है। 

(ख) फसलें खूब ______________ हैं र्न खेर् मिारे् हैं ______________।  

(ग) ________________ हस्ताक्षर करिे पर ही नमलर्ी है। 

(घ) सामिे का _________________ रे्दखकर काका िौोंक गए। 

प्रश्न 4. वनम्नवलब्लित शब्ो िं के अथथ वलब्लिए |                                       (0.5x5=2.5) 

कर्ार , आकर्यण , िाहक , दृश्य , भारर्ी 

प्रश्न 5.  स्वतिंत्रता वदिस कब मनाया िाता  ै और क्योिं?     (2) 

प्रश्न 6. वनम्नवलब्लित प्रश्नो िं के उतर दीविए |         (2X3=6) 

(क) फसलनों के पक िािे पर कौि खुश हनर्ा है और क्नों?  

(ख) गुलाब कन अपिी गलर्ी का एहसास कब हुआ? 

(ग) मनहि काका कहााँ-कहााँ नि निर्ााँ बााँटिे का काम कररे् थे? 

                                                   भाग-ि 

                                                  व्याकरण 

प्रश्न 7. नीचे वदए गए शब्ोिं से भाििाचक सिंज्ञा बनाइए ।   (0.5×4=2) 

मूखय , कार्र , सफल , शतु्र  

प्रश्न 8. िणों को वमलाकर शब् बनाइए।                                    (0.5×4=2) 

(क) क् + ऋ + र्् + ण् + अ  
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(ख) र् + र् + इ + फ् + अ + ल् + आ  

(ग) औ + ज् + आ + र् + अ  

(घ) प्  + र् + अ + थ् + आ  

प्रश्न 9. स ी िाक्य पर स ी ( ) तथा गलत िाक्य पर गलत (X) का वनशान लगाइए।      

           (0.5×4=2) 

(क) हम 'नहोंर्दी नर्दवस' 14 नसर्ोंबर कन मिारे् हैं।                                               (   ) 

(ख) हमारी रािभार्ा अोंगे्रिी है।                                                                     (    ) 

(ग) भार्ा के मौखखक रूप कन नलनप कहरे् हैं।                                                  (    ) 

(घ) अिुस्वार के उच्चारण में र्दााँर् की सहार्र्ा ली िार्ी है।                                (    ) 

प्रश्न 10. नीचे वदए गए शब्ोिं में से साथथक ि वनरथथक शब् अलग कीविए। (0.5×4=2)                                                                                                                           

गलि , िीम , गमला , हलर  

प्रश्न 11. वनम्नवलब्लित शब्ोिं के वलिंग बदलकर वलब्लिए।                             (1x4=4) 

श्रीमाि , बूढ़ा , नबल्ली , हाथी  

प्रश्न 12. वनम्नवलब्लित शब्ोिं के विलोम शब् वलब्लिए।                               (0.5×6=3)  

निधयि , घृणा , उपखथथर् , निोंर्दा , रु्दगंध  

प्रश्न 13. 'दीपािली' इस विषय पर 60 से 80 शब्ोिं में अनुचे्छद वलब्लिए।              (5) 
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ST. PBN PUBLIC SCHOOL, GURUGRAM 

UNIT TEST - I 

CLASS-IV 

SUBJECT-MATHEMATICS 

SAMPLE PAPER 
 

Time: 2 hours                 MM: 50 

General Instructions: 

 Do as directed 

 All questions are compulsory  

 

Q. 1 Choose the correct option and write in your answer sheet              (1 X 10 = 10) 

 

i. Which of the following number is a greatest? 

a) 3990                                              c) 3199 

b) 9033                                                                           d) 9339 

 

ii. When money subtracted from a number, the difference is the ________. 
a)  number itself                                                    c) predecessor  

b) successor                                                                    d) 0 

 

iii. 245 × ____ = 0 

a) 0                                                           c) 255 

 

 b) 1           d) 10 

iv. There are _____ lakhs in 4,56,708. 
a) 4                                                           c) 7  

 b) 3         d) 0 

 

v. 12,499 - 100 =  

 a)12,499
               

                                                 c)  1         

 b) 13,499         d) 11,400 

 

vi. 82 × 3 =  

a) 246                                         c) 240  

b) 126         d) 200 

 

vii. What is the face value of 6 in 2,46,089 

 a) 0                                        c) 6 

 b) 1                                                                              d) 6000 

 

viii.  10,000 - 1,000 =  
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a) 10                            c) 9000 

  b) 100  d) 9900 

 

ix. 492 × 25 = ____ × 25 

a) 25                                                     c) 0 

b) 492 d) 400 

 

x.    1300 + 1200 = 

a)  1000                                         c) 2500 

 

 b) 1100 d) 2000 

 

Q.2 Solve the following questions:       (2 X 7= 14) 

i. Write the expanded form of each of the following numbers. 

(a) 69,426 

(b) 55,630 

ii. Simplify: 95,074 + 8,215 - 26,231 

iii. Multiply 29×61 using lattice method. 

iv. Convert the following Roman numbers into Hindu-Arabic numbers. 

(a) LXXXIII 

(b) VL 

v. A car company produced 95,556 cars in a year. They sold 84,324 cars. How many cars 

were left unsold? 

vi. The price of a story book is ₹125. Manas  wants to purchase 9 story books to give to 

his friends as return gifts on his birthday. How much money does he need? 

vii. Multiply: 156 × 33 

        

Q-3 Solve the following questions:       (3 X 4 = 12) 

 

i. Arrange the following numbers in descending order. 

17,382; 68,259; 96,632; 6,53,142; 69,376 

 

ii. In a book consisting of 4,140 pages, a boy has read 1,278 pages. Estimate how mony 

pages are unread to the nearest thousands. 

 

iii. There are 175 rows of mango trees with 225 trees in each row. Estimate the number of 

mango trees by rounding of to the nearest hundreds. 

 

iv. Round of the following number to the nearest thousands. 

(a) 4960 

(b) 3278 
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Q-4 Mental Maths                            (1 X 10= 10) 

 

i. The smallest 6 digit number is __________. 

ii. 3245+ (1567 +4215) = (3245 + 1567) + ______. 

iii. 270 × 37 × 0 = _____ 

iv. The smallest 5 digit number that can be formed using the deserts 2, 7 and 0 with 

repetition is ______. 

v. 62,458 - 1,000 = ________ 

vi. 13 + 13 +13 +13 + 13 = ___ × 13 

vii. Compare: 70-10               XLV 

viii. 2040 + 3040 = ______ 

ix.  700 × 20 = _____ 

x. 3333 - ____ = 3332 

 

Q-5 Case Study                                                                                              (1 X 4 = 4) 
 

A library contains 560247 books in English, 115042 books in Hindi and 26789 books in 

other languages.  

 
 

 

 

(a) Write the number of Hindi books in words. 

(b) Round off 560247  to the nearest tens. 

(c) Compare: 560247 ___ 115042 

(d) What is the successor of 26789? 
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ST. PBN PUBLIC SCHOOL, GURUGRAM 

UNIT TEST - I 

CLASS-IV 

SUBJECT-EVS 

SAMPLE PAPER 
 

    Time: 2 hours           MM-40 

 

NAME: ____________________         DATE: ___________________ 

 
      GENERAL INSTRUCTIONS: 

1. Read all the questions carefully before attempting. 
2. All questions are compulsory. 
3. Do as directed. 

Q1. Choose the correct option and write in your answer sheet:            (1x5=5) 
    

1. What is family members who live with us called? 
a) Immediate family     c) Relatives                
b) Extended family                d) Nuclear Family  

 
2. Which of these is not a family value? 

a) Empathy      
b) Kindness                    

c) Helping each other                   
d) Staying away from each other 

 
3.  Name the largest sense organ.

a) Ear                   
b) Nose   

c) Eyes 
d) Skin 

 
          4.   Which of these helps us identify the source of smell? 

a) Nose    
b) Eyes 

c) Skin 
d) Nerves 

 
5.      What are farmers who plough the land and cultivate crops called??

a) Lawyers     
b) Craftspeople 

c)Factory workers 
               d)Agricultural  labourers                

 
Q2.  Fill in the blanks: -                                                                        (1x5=5) 

        a)  ____________ is the ability to do a job or task well. 
              b) ______________birds have two front toes and two back toes. 
              c)  A ______________ is an insect eating bird. 

        d)  ______________ is a pecking bird. 
        e)  ______________is a group of lions.. 
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Q3.  State True or False.                                                                         (1x5=5)     

a) Only men can work as pilots. 
b) All people wera uniform to work. 
c) Duck is a bird of prey. 
d) Ostrich use stones and pebbles to make their nests.. 
e) Sparrows have hooked beak. 

 
Q4. Answer the following questions in brief:                                                            (2x5=10) 
  

a) What type of a nest does a weaver bird make? How is it different from the nest 
of a woodpecker? 

b) Why do animals live in group? 
c) How are honeybees helpful to us? 
d) What is symbiotic relationship? 

     e)   Explain the cycle of change in a family. 

Q5.  Answer the following questions in detail:                                                      (3x3=9) 

a) What is the difference between skilled and unskilled labour? 
b)  What is adaptation. Give example. 
c) What do the following people do? 

i. doctor 
ii. secretary 

iii. farmer 
 
   Q6.   Draw a well labeled diagram of any two types of beaks and write one function of 
each type of beak.            (2x1=2)           
                                                                                                                 
  Q7.  Case study based question:                   (4)   
           An animal’s natural living area is called its habitat. When an animal changes its 
features or behaviour to survive better in its habitat, we call it an adaptation. Different 
animals show different kinds of adaptation, such as changes in their body coverings, 
eating habits, breathing mechanism, and ways of moving. 

 
1.What is animal’s natural living area called? 
a) Habitat 
b) Desert 

c) Forest 
d) Den

 
2. Changing of features or behaviour to survive better in a habitat is called_____.
a) Adaptation 
b) Pollination 

c) Symbiosis 
d) Respiration

 
3. ________keep the sheep safe to survive well in their respective habitats. 
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a) Wool 
b) Spines 

c) Shell 
d) Feather

 
4. ___________ has spines for defence. 
a) Lions 
b) Porcupines 
c) Wolves 
d) Ants 
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ST. PBN PUBLIC SCHOOL, GURUGRAM 
UNIT TEST - I 

CLASS-IV 
SUBJECT-COMPUTER 

SAMPLE PAPER 
Time: 2 Hours          MM: 40 

NAME: _________________________________        ROLL NO: ___________ 

General Instructions:  

1. All questions are compulsory. 

2. Read each question carefully. 

 

1)  Tick the correct answer.                                                                                (1×5=5) 

1. Internal memory is known as _________________ 

a) Primary Memory b) Main memory    c) Both a and b 

2. When we right click ___________menu appears- 

a) Context menu  b) windows menu   c) computer menu 

3. 1 gigabyte is equal to _______________kilobytes. 

a) 1125                     b) 1024                              c) 1042 

4. _____________is a new feature that takes you straight to the documents, 

pictures, songs, or websites you haave recently visited. 

a) Jump list             b) Multiple windows                   c) Notification Area 
 

5. _______________holds the startup instructions that tell a computer what to do, 

when it is  turned on 

a) RAM               b) ROM     c) Hard disk 

2)  Fill in the blanks-         (1x5=5) 

1. Battery status can be seen on the taskbar in the _________________area. 

2. A flash drive is popularly known as _________________drive 

3. The middle section of the taskbar is known as the _______________________  

4. The data which you put in to the computer is processed by the 

________________ 

5. The information stored in ____________is lost when the power goes off.  

3) State True or False:           (1×5=5) 

1. 1 megabyte is equal to 1024 gigabyte. 

2. Notification are provides an easy and quick way to open the programs. 

3. CD is an external storage device. 

4. In DVD we can store data less than CD. 
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5. External memory stores information for a longer period. 

4)  Answer in one word or sentence.        (1×5=5) 

1. What is the full form of ROM and CLI? 

2. Write the name of any two Internal Memories. 

3. What is memory. 

4. Which is the latest version of windows operating system? 

5. Which is the smallest memory unit? 

5) Answer the following ( Do any 5 questions)      (2×5=10) 

1. What is context menu? 

2. What is the use of personalize option? 

3. What is flash drive? 

4. Write down the features of ROM. 

5. What are the various options that help in specifying how icon should be displayed 

on the taskbar? 

6. How data is stored in a computer? 

6) Difference between:          (2×2=4) 

  1. RAM and ROM 

  2. Snapping and Aero peek 

7) Competency based question:         (1×2=2) 

1. Sumit uses paint program quire frequently. Where should he place the icon of 

this program so that he can access it with a single-click? 

2. Aaryan could not finish his project work in the class. So he wants to carry the 

softcopy of the project to his house to finish it. Which device will you suggest 

him to copy his work? 

8) Case Based questions:           (1X4=4) 

1. Write the name of desktop components- 

 

a.  

 

 

 

 

 

b.  

 

 c.  


